1. A supply curve revels-

 a) the highest price producers are willing to accept for each level of output b) the difference between quantity demanded and quantity supplied at each price c) the maximum level of output an industry can produce, regardless of price. d) the quantity of output that producers are willing to produce and sell at each possible market price

2.  When the current price is above the market clearing level we would expect-

 a) quantity demanded to exceed quantity supplied b) quantity supplied to exceed quantity demanded c) price to rise in future d) grater production to occur during the next period.

3.  if the actual price were below the equilibrium price in the market for bread, a 

a) a surplus would develop that cannot be eliminated over time b) shortage will develop, which market forces eliminate over time c) a surplus would develop that which market forces eliminate over time d) shortage will develop, which market forces would tend to exacerbate.

 4. When the current price is above the equilibrium price, we would expect-

a) quantity demanded to exceed quantity supplied b) quantity supplied to exceed quantity demanded c) price to rise in future d) grater production to occur in the next period

5. From 1970 to 1993 the real price of college education increased and total enrollment increased. Which of the following would cause and unambiguous increase in the real price of college education?
 a) A shift to the right to supply curve for college education and a shift to the right in the demand curve for college education b) A shift to the right to supply curve for college education and a shift to the left in the demand curve for college education c) A shift to the left to supply curve for college education and a shift to the right in the demand curve for college education d) A shift to the left to supply curve for college education and a shift to the left in the demand curve for college education

6. From 1970 to 1993 the real price eggs decreased and total annual consumption of eggs decreased. Which of the following would cause and unambiguous decrease in the real price of eggs?
a) A shift to the right to supply curve for eggs and a shift to the right in the demand curve for college education b) A shift to the right to supply curve for eggs and a shift to the left in the demand curve for eggs c) A shift to the left to supply curve for eggs and a shift to the right in the demand curve for eggs d) A shift to the left to supply curve for eggs and a shift to the left in the demand curve for eggs.
7. Gasoline and Automobiles are a.) are complements b) are both inferior goods c) are both more inelastic in demand in the long run that in the short run. d) have a positive cross price elasticity of demand

8. Which of the following would shift the demand curves for the new text books to the right? 

a) a fall in the price of paper used in publishing text b) a fall in the price of equivalent used textbooks c) an increase in the number of student attending college. d) a fall in the price of new textbooks.

9. Which of the following will cause the demand curve for betakes CD shift to the right?

a). A increase in the price of disc b) A decrease in the income of people who like to buy the disc c) A increase price of a substitute CD. d) all of the above e) none of the above

10. Which of the following will not cause a shift to the right in the demand curve for beer? A) A change in price B) A change in income C) A change in price of a substitute D) A change in price of a complements E) None of the above
11. Which of the following will cause a shift to the right in the demand curve for Gasoline? I) A large increase of price in public transportation II) A large decrease in the price of Automobile III) A large reduction in the costs of producing gasoline
a) 1 only b) 2 only c) 1 and 2 only d) 2 and 3 only e) 1, 2 and 3

12. The income elasticity of demand is the 

a) absolute change in the quantity demanded resulting from a one unit change in income b) Percent  change  quantity demanded resulting from the absolute change in income. c) Percent  change  quantity demanded resulting from the one percent  change in income. d) Percent change in income resulting from a one percent change in quantity demanded. e) Percent change in income resulting from a one percent change in price.

13. Elasticity measures-

a) The slope of demand curve b) The inverse of  the slope of demand curve c) the percentage change in one variable  in response to a 1% change in quantity d) sensitivity of price to a change in quantity

14. A vertical demand curve is 

a) Completely inelastic b) income elasticity c) cross-price elasticity d) cross-substitution elasticity

15. If two goods are substitutes, the cross price elasticity of demand

a) Negative b) Positive c) Zero d) Infinite

16. A freeze in brazils coffee growing regions will-

a) result in sharp increase in the price of coffee in the short run because demand and supply are highly inelastic b) result in sharp increase in the price of coffee in the short run because demand and supply are highly elastic c) result in sharp decrease in the price of coffee in the short run because demand is highly inelastic and supply are highly elastic d) result in little change in the price of coffee in the short run because supply in infinitely elastic.

17. The theory of consumer behavior is based on certain assumptions. It includes at least the assumptions that preferences are-

a) complete b) transitive c) intransitive d) a&b e) a&c

18. Which of the following is true about indifference curve where one commodity is bad?
a) It has a negative slop b) It has a positive slop c) It is horizontal d) It is vertical

Considering following three market basket-

              Food        Clothing
A             8                     5

B             5                     8

C             6                    3

19. If preferences satisfy all four of the usual assumptions

a) A is on the same indifference curve as B b)  B is on the same indifference curve as C c) A is preferred to B d) A is preferred to C e) Both A & B is correct

20. Which of the following cannot be true?

a) The consumer could be indifferent between A & B b) The consumer could be indifferent between B & C c) A & C could be the same indifference curve d) A & C must be on the same indifference curve

21. Assuming that food is measured in horizontal axis and clothing on vertical. If the price of food rises relative to that of clothing, the budget line will-  

a) Become flatter b) Become steeper c) Shift outward d) Become steeper or flatter depending on the relationship between price and Income.

22. Which of the following will result in decrease in consumers purchasing power?

a) Decrease in consumer’s income. b) an increase in the price of the good on the vertical axis c) an increase in the price of the good on the horizontal axis d) all of the above.

23. if  Jill’s MRS of popcorn for candy is 2 (Popcorn is in the horizontal axis), jill would willing to give up-

a) 2 but no more than 2,  units of popcorn for an additional unit of candy. b) 2 but no more than 2, units of popcorn for an additional unit of popcorn c) 1 but no more than 1,  units of popcorn for an additional 2 unit of candy d) 2 but no more than 2,  units of popcorn for an additional 2 unit of candy

24. Pencils cell for 10 cents, Pens cell for 50 cents. Suppose jack whose preferences satisfy all of the usual assumptions, buys 5 pen and 1 pencil each semester, with this consumption bundle, his MRS of pencils for pens is 3, which of the following is true?

a. Jack could increase his utility by buying more pens and fewer pencils. b. Jack could increase his utility by buying more pencils and fewer pens. c. Jack could increase his utility by buying more pens and more pencils. d. Jack could increase his utility by buying fewer pens and fewer pencils. e. Jack is at the corner solution and is maximizing his utility.

25. An individual consumes only two goods. X & Y. Which of the following expressions represents the utility maximizing market basket?

a) MRSxy is at a maximum b) Px/Py= money income c) MRSxy= money income d) MRSxy= Px/Py  e) all of the above

26. If prices and Income in a two-good society double, what will happen to budget line?

a) The intercepts of budget line will increase b) The intercepts of budget line will decrease c) The slope of budget line may increase or decrease c) insufficient information is given to determine what effect the change will have on the budget lien. e) there will be no effect in budget line.

27. The price of lemonade is $.50 and price of popcorn is $1.00. If fred has maximized his utility, by purchasing lemonade and popcorn, his marginal rate of substitution will be-

 a) 2 lemonade for each person b) 1 lemonade for each person c) ½ lemonade for each person d) intermediate unless more information on Fred’s marginal utilities is provided.

28. Which of the following is not necessarily true of a consumer who has maximized utility for two good X and Y

a) MRSxy= Px/Py  b)MUx/MUy = Px/Py c) Px/Py= money income d) Px/Py= slope of indifference curve at the optimal choice e)MUx/Px=MUy/Py

29. When a person consumes two goods (A & B), the persons utility is maximized the budge is allocated such that-

a) The marginal Utility of A= The marginal Utility of B  b) The marginal Utility of A* price of A= The marginal Utility of B* price of B  c) The ratio of total utility of A to the price of A=  The ratio of marginal utility of B to the price of A d) The ratio of marginal utility of A to the price of A=  The ratio of marginal utility of B to the price of B

30. The Change in the Quantity demanded of resulting from a change in relative price with the level of satisfaction held constant is called the ____________ effect.  

I. All  Giffen goods are inferior goods. Ii. All  inferior goods are Giffen goods 

a) I and II are true b) I is true, II is false c) I is false, II is true d) I and II are false

31. For an Inferior good, the Income and substitution effects are-

a) Work Together b) Work against c) always cancel each other d) can work together or in position to each other upon their relative magnitudes.

32. The substitution effect of a price change for product X can be thought as the change in consumption of X associated with a change in-

a) the price of X with the level of real income held constant b) the price of X with the level of real income not considered c) the price of X with the prices of other good changing, by the same percentage as that for product X d) income, with prices of other good held constant.

33. Which of the following describes the Giffen good case? When the price of  the good- 

a) rise, the income effect is opposite the greater than the substitution effect , and consumption falls. b) falls, the income effect is in the same direction as the substitution effect, and consumption rises c) falls, the income effect is in the opposite direction as the substitution effect, and consumption falls d) falls, the income effect is in the opposite direction as the substitution effect, and consumption rises.

34. Use the following two statements in answering the question-    I. For all Giffen goods the substitution effect is larger than the income effect   II.  For all inferior goods the substitution effect is larger than the income effect. 

a. I & II are true b. I true, II false c. I false, II true d. I & II are false.

35. Assume Beer is a normal good and the price of  beer rises, then the substitution effect results in the person buying  ______ of the good and the good and the income effect results in the person buying ______ of the good.

a) more, more b)more, less c)less, more d)less, less
35. Assume Beer is a normal good and the price of  beer falls, then the substitution effect results in the person buying  ______ of the good and the good and the income effect results in the person buying ______ of the good.

a) more, more b)more, less c)less, more d)less, less

36. Good A is a Giffen good. If the price of good A were suddenly doubles, the income effect would cause  the purchase of good A to increase by 

a) more than double b)exactly double c) less than double  d) any of the above e) none of the above.

37. For each situation illustrated which one fits with which?
a) Completeness b) Transitivity c) More is better d) Diminishing Marginal Rate of Substitution.
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38. For each of the following income elasticities of good X, indicate the classification of good (normal, superior), the sign of the income effect and whether IE is >, <, =.

Income Elasticity
Classification
   Sign

a.  = to 1.2

__________           +, -, 0, < ,>, =

b.  = .8                           __________           +, -, 0, < ,>, =

c. =0                               __________           +, -, 0, < ,>, =

d. = -.2                           __________           +, -, 0, < ,>, =

What is true of the following if good X has a demand curve with a positive slope?

 Classification       Sign

__________           +, -, 0, < ,>, =

